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1. Which of the following is true?
(0 - 4 (i) 4>7 (i) 5 >16 (iv) 2 <1 W) 3<1
i) - ii - i) - - iv) - - v) -
10 17 19 9 13 19 10 4 4 3
2. Which of the following is true?
.30 29 37 21 . 13 17 . 27 32 37 31
(i) =—> (ii) > (iii) > - (iv) — < (v) >
29 18 26 16 9 5 7 27 18 6

3. Which of the following is true?

) 1 2 " 3 13 . 3 19 | 6 8 19 17
(i) 39—<21 (ii) 5=—>30-— (iii) 38— >37 (iv) 33—<11 (V) 6—>7—
14 23 25 16 11 25 31 21 36 35
The ascending order of
4. 1 4 1 1 3 1_s
P B
27 6 278
113411 113114 1311141 111431
D =z, () —o=,zzaz, o ) -,z (V) =2 2 022
6 2 7 7 28 86 7 2 217 6 7 2 87 2 6 22 7 7 8
111143
V) =, =z, 2,2,
2 6 28717
The descending order of
5. 31 4 2 3 1_s
P
9 393714
243131 313124 .. 324131 341213
D) =, =z, () o=z oo ) =2z (V) ==, —, 2,2, 2
397 3914 7 49 3 39 9 393714 9 943 37
W) 3114
r ’ I4I ’
6. Which of the following is true?
(i 9 >4 (i) 5>2 (i) 8 >13 (iv) 4>14 W) 3>3
i) - i . i) - ; iv - V) = >-
13 11 9 3 16 19 9 16 7 6
. Which of the following is true?
. 8 28 38 32 11 21 25 38 24 34
(i) —< (i) — <— (iii) <— (iv) <— (v) >
7 25 35 3 2 13 4 35 5 7
. Which of the following is true?
) 14 16 26 6 . 1 2 ) 7 14 2 9
(i) 22—<28— (i) 20— <3 — (iii) 35—<5— (iv) 11-<3— (v) 31— >37—
19 31 37 23 11 37

9 25 25 16



The ascending order of
9. 7 2 3 1 4 3_S
9 882509

.3 3 7234 314237 2331 4
) I (1) B (1) B (1) B
8 9 8 5 8 25899 5
3237
(V) r I- I. ’ ’
5 98 9
The descending order of
10. 4 1 3 1 5 5 is
9'2'7'4'8'9
(0) 4 5 5 (i 514153 (i) (iv) 1
| P T ] (1) B sl R 1 Pl el Rl A% Pl s R Rl
94 7 2 98 9 2 9 4 8 7 4
'2'8'2'9"9
11. Which of the following is true?
13 11 .17 4 . 13 2 . 3 17 11 6
(i) <- iy —>— (i) <— (iv) —>- (v) -
15 18 19 5 15 3 16 19 19 11
12. Which of the following is true?
25 37 .19 23 . 16 18 37 35 15 39
iy — <- (i) — <- (iii) — <~ (iv) — <- (v) <-
9 16 4 3 5 11 25 29 4 17
13. Which of the following is true?
19 23 3 3 2 2 4 1 3 1
(i) >18- (ii) 18— >38- (iii) 24 <23—= (iv) 35—>18- (v) 39 <39
29 38 31 22 13 3 23 31 31 29
The ascending order of
14. 4 4 1 7 1 1,
e T Tl 15
6 7 3 8 37
(i) (ii) e (iii) (iv) !
I ’ ’ ’ ’ ’ II ’ r ’ ’ ’ III ’ r ’ r ’ IV ’ ’ r ’ r
7 7 8
7 1 1
(v)

The descending order of
15. 6 5 2 4 2 1

el Rl
97 3995

6 4 2 (i) 56 2 421 (iv) 6 41252
- , ,. III , ,. '. ,. ,. IV - - - - -
9 99 79 3 995 9 9597

(i) > >-4 (i) 2 <-8 (iii) -6< 2 (iv) 3 >-5 (v) -8<-3
12 7 15 13 9 10 17 13 9 6



17. Which of the following is true?

.25 18 . 38 22 ... 29 37 . 38 25 26 13
(i) > - (i) — > (iii) < (iv) - - -
12 7 33 9 3

18. Which of the following is true?

. 1 2 31 2 . 18 15 3 1 9 10

(i) 44— <14 - (ii) 15 <15-= (iii) 22 <14- (iv) 9-— >21 (v) 31— >7-
2 38 7 7 28 29 2 14 11

The ascending order of

19. 51 2 3 3 1,

P e Sl 1
8 257 53

(i) 3 2
! 5'5

U

13 3 213 531213
yoao () oo oo o (iv)
3'2'7 3'5'8'5'2'7 8'7'2

5 5
123135
(V)3

’ ’ ’

The descending order of
20. 31112 2,

P Rl gl
4 9 47 6 7

322111 (i)
D o R 1l
4 6 7 47 9

(iv) 2
Pl R R v Pl Rl
6
W) 3 2
V Il ’ ’ ’ ’
4
21. Which of the following is true?
13 8 .15 2 .3 1 7 9 10 4
(i) <- (i) — <= (iii) —>- (iv) — <- (v) — >
15 10 16 8 16 4 10 20 14 11
22. Which of the following is true?
.39 21 . 32 38 .. 37 36 35 32 29 32
(i) > - (i) — > (iii) < (iv) <- (v) >
32 16 31 21 7 29 33 19 19 13
23. Which of the following is true?
. 2 14 7 10 . 11 1 18 4 22 13
(i) 28—=>31 (ii) 19 >19 (iii) 12 >12 (iv) 39 <24 (v) 5 >7
7 15 23 29 12 3 31 13 37 21

The ascending order of
24. 4 2 2 1 1 5

II-IIIIS
6 4 8 4 37

HIN

=
N
=

12 14 25 1412652
ST T T, (iii) =, =,=,—,—, (iv)
3 4 8 36 8 4 47

’ ’



The descending order of
1 3447 3,

PRl Rl R Rl
27 659 4

25.
S

473413 173434 341734 . 7 4 3 3
N ==, ==z, () ooz oo, ) o=z o2 (V) = o= =2
5946 2 7 2 97 5 4°6 7 52 9 46 6 7
) 37 4 1
V ’ ’ V. ’ V.
6 2
26. Which of the following is true?
.28 29 . 36 40 .. 28 17 14 24 39 39
(i) <- (i) — >- (iii) — >- (iv) — >- (v) —<
3 18 31 3 25 15 13 5 23 14
27. Which of the following is true?
) 11 11 1 23 . 7 23 . 12 19 17 8
(i) 5 >37- (ii) 40— <26 (iii) 37 <25 (iv) 31— >6- (v) 36 <15-
34 18 28 35 20 35 13 32 19 11



Assignment Key

1) (iv) 2) (ii) 3) (iii) 4) (ii) 5) (i) 6) (i)
7) (ii) 8) (i) 9) (iv) 10) (iii) 11) (ii) 12) (ii)
13) (iv) 14) (iii) 15) (iii) 16) (ii) 17) (iv) 18) (v)
19) (v) 20) (ii) 21) (v) 22) (iv) 23) (iii) 24) (i)
25) (i) 26) (v) 27) (iv)
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